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 �D4>F<G=V 74=OFFO =5 ?5D5454G5=V.  

11. &5<< ?45>D4F>D=<E 74=OFL 

7 

7/? 
�4764 F5<< 

�V?L>VEFL 
7>4<= 

1 �<>>=4==O >D5E?5=L EE5< FDG5>?D>6>4V6 6 AutoCAD. 2 

2 �<>>=4==O 5G4V65?L=<E ??4=V6 ?D<<VM5=L. 2 

3 �V4D46?VG=<= D>7D4EG=>> FDG5>?D>6>4V6 6 Exel. 2 

4 �V4D46?VG=<= D>7D4EG=>> FDG5>?D>6>4V6 6 MathCad. 2 

5 �6545==O 7474?L=<E 44=<E. �4=<E > ?D<<VM5==OE 6 Danfoss C.O. 2 

6 �4?N64==O EE5< FDG5>?D>6>4V6 F4 66545==O 44=<E ?D> 5?5<5=F<. 2 

7 �6545==O 44=<E 6 F45?<FV 6 Danfoss C.O. 2 

8 $>7D4EG=>< F4 D57G?LF4F< D>7D4EG=>V6 6 Danfoss C.O. 2 

9 �V4><>EFV <4F5DV4?V6. 2 

 $47><  18 
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12. %4<>EFV==4 D>5>F4 
�5F>N E4<>EFV==>W D>5>F< EFG45=F4 T: =46G<F<EO >>D<EFG64F<EO 5V5?V>F5G=<<< D>=44<< 

V >4F4?>74<<, ?D4FN64F< 7 VEF>D<G=<<< F4 ?VF5D4FGD=<<< 465D5?4<<, E>?444F< >>=E?5>F<, 

4=4?V7G64F< <4F5DV4?, ?>DV6=N64F< DV7=V =4G>>6V >>=F5?FVW F4 D>5<F< 6<E=>6><. 

�<4< E4<>EFV==>W D>5>F< EFG45=F4: 
- >?D4FN64==O ?5>FV==>7> <4F5DV4?G; 
- >?D4FN64==O F5< >GDEG, O>V 6<=>EOFLEO =4 E4<>EFV==5 6<6G5==O, 74 E?<E>4<< ?VF5D4FGD<, 

D5>><5=4>64=<<< 6 D>5>GV= =46G4?L=V= ?D>7D4<V 4<EF<??V=<; 

- ?V47>F>6>4 4> 6<>>=4==O <>4G?L=>W >>=FD>?L=>W D>5>F< (F5EFG64==O); 
- 6V46V4G64==O >>=EG?LF4FV= (77V4=> 7D4DV>G >>=EG?LF4FV= >4D54D<); 

- ?V47>F>6>4 4> E>?444==O VE?<FG 74 >>=FD>?L=<<< ?<F4==O<<. 

�<F4==O 4?O E4<>EFV==>7> 6<6G5==O EFG45=F4<< 

7 

7/? 
�4764 F5<< 

�V?L>VEFL 
7>4<= 

1 �=F5DD5=E AutoCAD. �><4=4=<= DO4>>. �4?VFD<. %FDVG>4. $>5>GV 
?D>EF>D<. �>?44>< D4=?V6 F4 =4?4LFG64==O >>?L>DV6. �5=N. ,4D<. 

�DG?>65 =4?4LFG64==O L4DV6. �<5=>64=V >>=DV7GD4FVW. �<5VD >5�T>FV6. 
,6<4><= 6<5VD. $56<<< 6<4V?5==O. 

5 

2 �D<<VF<6< >D5E?5=L. �>?V7>=. %??4==. %?VD4?L. �5?4EFL, <4E>G64==O. 
�D<6�O7><. &<<G4E>65 ?5D56<7=4G5==O. �=EFDG<5=F< D5447G64==O. �4E<6<. 

�>4V5=>EFV. 
5 

3 $V6=O==O 6 Excel. �D4DV>< DG=>FV= 6 Excel. �5>V?L>4 7D4DV>V6 =4 >4=><G 
D<EG=>G. �>7VG=V DG=>FVW. �>6V4><?5==O ?D> ?><<?><.  

5 

4 �>E?V465==O F4 >5G<E?5==O >>D5=V6 DV6=O==O. �?5D4FVW 7 <4FD<FO<< 6 
Excel. $>76�O74==O E<EF5< DV6=O=L. 

5 

5 �=F5DD5=E MathCad. $>5>G<= 4>>G<5=F MathCad. �6V4 D>D<G?. 

�<?>DFG64==O F5>EFG. �7=4G5==O 7<V==<E. 
5 

6 $4=6>64=V 7<V==V. �<5=4 7<V==<E F4 DG=>FV=. �<5=4 7 >?5D4F>D4<< F4 
E?5FV4?L=V E<<6>?<. 

5 

7 �>5G4>64 7D4DV>V6 DG=>FV= 6 MathCad. $G=>FVW >4=VTW 7<V==>W. 
$>D<4FG64==O 7D4DV>V6. 

5 

8 �5>V?L>4 7D4DV>V6 DG=>FV= =4 >4=><G D<EG=>G. $G=>FVW 46>E 7<V==<E. 

�4FD<G=V >?5D4FVW. 
5 

 $47><  40 

13. �=4<6V4G4?L=V 74644==O 

�<>>=4==O D>7D4EG=>>6>-7D4DVG=>W D>5>F< «�<>>=4==O 7V4D46?VG=>7> D>7D4EG=>G 
FDG5>?D>6>4V6 7 6<>>D<EF4==O< >><?�NF5D=<E ?D>7D4<». 

�474?L=<= >5EO7 G4EG =4 V=4<6V4G4?L=G D>5>FG E>?444T 60 7>4. 

�4 F5= G4E EFG45=F 6<>>=GT >5>6�O7>>65 74644==O, O>5 <4T =4 <5FV 74>DV??5==O =46<G>>, 
>FD<<4=<E ?D< 6<6G5==V F5>D5F<G=>7> >GDEG F4 6<>>=4==V 74644=L ?D4>F<G=<E 74=OFL. >E>??NT 
=46G4?L=<= <4F5DV4? GEL>7> >GDEG. 

$>5>F4 6<>>=GTFLEO 6V4?>6V4=> 4> <5F>4<G=<E D5>><5=44FV=, =46545=<E G [4]. 

14. �5F>4< =46G4==O 

�D< 6<>?444==V 4<EF<??V=< 74EF>E>6GNFLEO E?>65E=V, =4>G=V F4 ?D4>F<G=V <5F>4< 

=46G4==O.  
%?>65E=V F4 =4>G=V <5F>4< =46G4==O 6<>>D<EF>6GNFLEO ?V4 G4E ?5>FV=, E5<V=4DEL><E 

74=OFL, V=4<6V4G4?L=<E F4 7DG?>6<E >>=EG?LF4FV=, ?D4>F<G=V � ?D< 6<>>=4==V ?45>D4F>D=<E 

D>5VF. 
�V4 G4E ?D>6545==O ?5>FV= 6<>>D<EF>6GNFLEO F4>V E?>65E=V <5F>4< O> D>7?>6V4L V 

?>OE=5==O. 
�> G<E?4 =4>G=<E <5F>4V6, O>V 74EF>E>6GNFLEO ?D< 6<>?444==V 4<EF<??V=<, =4?564FL: 

V?NEFD4FVO, 45<>=EFD4FVO. 
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15. �5F>4< >>=FD>?N 

�>F>G=<= >>=FD>?L GE?VL=>EFV 74E6>T==O EFG45=F4<< =46G4?L=>7> <4F5DV4?G <>65 
74V=E=N64F<EO L?OE>< >?<FG64==O = >FV=N64==O 7=4=L EFG45=FV6 ?V4 G4E E4<>EFV==>W D>5>F< F4 
V=4<6V4G4?L=<E 74644=L, ?D>6545==O V ?5D56VD>< ?<EL<>6<E >>=FD>?L=<E D>5VF, F5EFG64==O 45> 6 
E>4V V=4<6V4G4?L=<E E?V655EV4 7V EFG45=F4<< ?V4 G4E >>=EG?LF4FV=. �<5VD >>=>D5F=<E D>D< V 
<5F>4V6 ?>F>G=>7> >>=FD>?N 7=4=L EFG45=FV6 74?56<FL 6V4 6<>?444G4 V 4>6>4<FLEO 4> WE=L>7> 
6V4><4 =4 ?5DL><G ?5>FV==><G 74=OFFV. �>4G?L=<= >>=FD>?L T G4EF<=>N ?>F>G=>7> >>=FD>?N V 
<4T =4 <5FV ?5D56VD>G 74E6>T==O EFG45=F>< ?56=>W EG>G?=>EFV 7=4=L F4 6<V=L, M> D>D<GNFL 
6V4?>6V4=<= <>4G?L. �V= D54?V7GTFLEO L?OE>< ?D>6545==O E?5FV4?L=<E >>=FD>?L=<E 74E>4V6 (G 
D>D<V F5EFG64==O G< =4?<E4==O EFG45=F4<< >>=FD>?L=<E D>5VF), ?D>6>4<FLEO =4?D<>V=FV 
>>6=>7> 7<VEF>6>7> <>4G?N 74 D4EG=>> 4G4<F>D=<E 74=OFL, ?V4 G4E 7DG?>6<E >>=EG?LF4FV= 45> 6 

74 D4EG=>> G4EG, 6V46545=>7> =4 E4<>EFV==G D>5>FG EFG45=FV6. �4 ?V4EF46V D57G?LF4FV6 
<>4G?L=>7> >>=FD>?N 74V=E=NTFLEO <V6E5EV==<= >>=FD>?L (4F5EF4FVO). 

�V4EG<>>6<= >>=FD>?L 74V=E=NTFLEO G D>D<V E5<5EFD>6>7> 5>74<5=G. 
16.  $>7?>4V? 54?V6, O>V >FD<<GNFL EFG45=F< 6?D>4>66 E5<5EFDG 

�>F>G=5 >FV=N64==O, F5EFG64==O 
F4 E4<>EFV==4 = V=4<6V4G4?L=4 D>5>F4 

�<VEF>6<= <>4G?L 1 

&1 &2 &3 &4 &5 &6 &7 &8 &9 &10 &11 &12 �=4<6V4G4?L=V 
74644==O 

%5<5EFD>6<= 

5>74<5= 
%G<4 

1 2 2 2 1 2 2 2 1 2 2 1 30 50 100 

,>4?4 >FV=N64==O: =4FV>=4?L=4 F4 ECTS 

100-54?L=4 
D5=F<=7>64 E<EF5<4 

>FV=N64==O 
�FV=>4 74 L>4?>N ��&% 

�FV=>4 74 =4FV>=4?L=>N L>4?>N 

4?O 5>74<5=G  

90 � 100 A � 6V4<V==> 5 � 6V4<V==> 

82 � 89 B � 4G65 4>5D5 

74 � 81 C � 4>5D5 
4 � 4>5D5 

64 � 73 D � 744>6V?L=> 

60 � 63 E � 4>EF4F=L> 
3 � 744>6V?L=> 

35 � 59 

FX � =5744>6V?L=> 7 
<>6?<6VEFN ?>6F>D=>7> 

E>?444==O 

0 � 34 

F � =5744>6V?L=> 7 
>5>6�O7>>6<< ?>6F>D=<< 

6<6G5==O< 4<EF<??V=< 

2 � =5744>6V?L=> 

�D46<?4 <>4G?L=>-D5=F<=7>6>7> >FV=N64==O 7=4=L 

�474?L=4 FDG4><VEF>VEFL 4<EF<??V=< � 100 54?V6, V7 =<E ?D< ?V4EG<>>6><G >>=FD>?V G 6<7?O4V 
5>74<5=G 50 54?V6 6V46545=> =4 ?>F>G=<= >>=FD>?L, 4 50 54?V6 � =4 ?V4EG<>>6<= (4?O 4>?GE>G 4> 

5>74<5=G =5>5EV4=> <4F< =5 <5=L5 25 54?V6 ?>F>G=>W GE?VL=>EFV). 
1. �>F>G=<= >>=FD>?L. �4?<, >FD<<4=V 6?D>4>66 E5<5EFDG, 74 6<44<< =46G4?L=>W 

4VO?L=>EFV D>7?>4V?ONFLEO =4EFG?=<< G<=>< (D>7?>4V? >DVT=F>6=<=): 

- D>5>F4 =4 ?45>D4F>D=<E 74=OFFOE (6<>>=4==O ?45>D4F>D=<E D>5VF, 4 6 D47V WE ?D>?GE>V6 7 
?>646=>W ?D<G<=< � V=4<6V4G4?L=V E?V655EV4< =4 >>=EG?LF4FVOE 74 F5<4<< 6V4?>6V4=<E 74=OFL), 
6<>>=4==O V=4<6V4G4?L=<E 74644=L  � 4> 50 54?V6. 

�D<EGF=VEFL =4 ?5>FVOE =5 >FV=NTFLEO 6 54?4E. �D>?GE>< 74=OFL ?V4?O74NFL >5>6�O7>>6><G 
6V4?D4FN64==N 6 V=4<6V4G4?L=><G ?>DO4>G ?V4 G4E >>=EG?LF4FV=. �D>?GM5=5 74=OFFO <4T 5GF< 

6V4?D4FL>64=5 6?D>4>66 46>E =4EFG?=<E F<6=V6, ?D< FD<64?V= 6V4EGF=>EFV EFG45=F4 =4 74=OFFOE 

7 ?>646=>W ?D<G<=< 6EF4=>6?NTFLEO V=4<6V4G4?L=<= 7D4DV> 6V4?D4FN64==O ?D>?GE>V6, 4?5 =5 
?V7=VL5 ?>G4F>G 5>74<5=4FV==>W E5EVW. 
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%FG45=F, O><= ?>6=VEFN 6<>>=46 ?D>7D4<G =46G4?L=>W 4<EF<??V=< V >FD<<46 4>EF4F=N 

D5=F<=7>6G >FV=>G (=5 <5=L5 25 54?V6), 4>?GE>4TFLEO 4> ?V4EG<>>6>7> >>=FD>?N 7 4<EF<??V=<. 

2. �V4EG<>>6<= >>=FD>?L �V4EG<>>6<< >>=FD>?5< T 5>74<5=. �V= 74V=E=NTFLEO 
6V4?>6V4=> 4> 6<<>7 «�>?>65==O ?D> >D74=V74FVN >E6VF=L>7> ?D>F5EG 6 �4FV>=4?L=><G 
G=V65DE<F5FV «�>?F46EL>4 ?>?VF5E=V>4 V<5=V .DVO �>=4D4FN>4». 

  

17.  �5F>4<G=5 74557?5G5==O 

1. $>5>G4 ?D>7D4<4 =46G4?L=>W 4<EF<??V=< «�><?�NF5D=V <5F>4< F4 74E>5< D>76�O74==O 
V=65=5D=<E 7444G» 4?O EFG45=FV6 45==>W D>D<< =46G4==O E?5FV4?L=>EFV 144 &5??>5=5D75F<>4 / 

�.�. '5D54=V>>64. � �>?F464, 2022. � 10 E. 
2. �>=E?5>F ?5>FV= V7 >GDEG ��><?�NF5D=V <5F>4< F4 74E>5< D>76�O74==O V=65=5D=<E 7444G� 4?O 
EFG45=FV6 E?5FV4?L=>EFV 144 «&5??>5=5D75F<>4» �>?F464: �4FV>=4?L=<= G=V65DE<F5F 
��>?F46EL>4 ?>?VF5E=V>4 V<5=V .DVO �>=4D4FN>4�, 2021. � 156 E. 
3. �5F>4<G=V 6>47V6>< 4> ?45>D4F>D=<E D>5VF 7 >GDEG ��><?�NF5D=V <5F>4< F4 74E>5< 

D>76�O74==O V=65=5D=<E 7444G� 4?O EFG45=FV6 E?5FV4?L=>EFV 144 �&5??>5=5D75F<>4�. '4EF<=4 2  �  

�>?F464: �4FV>=4?L=<= G=V65DE<F5F ��>?F46EL>4 ?>?VF5E=V>4 V<5=V .DVO �>=4D4FN>4�, 2021. � 

31 c. 

4. '5D54=V>>64 �.�. �5F>4<G=V 6>47V6>< 4> 6<>>=4==O D>7D4EG=>>6>-7D4DVG=>W D>5>F< 7 >GDEG 
«�><?�NF5D=V <5F>4< F4 74E>5< D>76�O74==O V=65=5D=<E 7444G» 4?O EFG45=FV6 E?5FV4?L=>EFV 144 

«&5??>5=5D75F<>4» 45==>W D>D<< =46G4==O / �.�. '5D54=V>>64 � �>?F464: �4FV>=4?L=<= 

G=V65DE<F5F V<5=V .DVO �>=4D4FN>4, 2021. � 22 E. 
18. $5>><5=4>64=4 ?VF5D4FGD4 

�47>64 

1. �=65=5D=4 F4 >><?�NF5D=4 7D4DV>4. AutoCAD : =46G. ?>EV5. / �.�. &6VD>G=, �.�. �5LF4 ; ?V4. 

747. D54. �.�. &6VD>G=4 ; �-6> >E6VF< V =4G>< '>D4W=<, �&' ��=V?D>6EL>4 ?>?VF5E=V>4�. � �=V?D>: 

�&' ���� , 2018. � 209 E. 
2. �5?N5>6 �. �., �GDGF4 �. %. �E=>6< V=D>D<4F<><. Microsoft Excel 2016: =46G4?L=<= 

?>EV5=<>. '67>D>4: ���� «'6�'», 2018. - 58 E.: V?. Excel 2016. 

3. �=D>D<4FV==V F5E=>?>7VW: %<EF5<< >><?�NF5D=>W <4F5<4F<>< [�?5>FD>==<= D5EGDE] : =46G. 

?>EV5. 4?O EFG4. E?5FV4?L=>EFV «�6F><4F<74FVO F4 >><?�NF5D=>-V=F57D>64=V F5E=>?>7VW» / �. �. 

�D46G5=>>, �. �. �<><F5=>>; ��� V<. �7>DO %V>>DEL>>7> . � �?5>FD>==V F5>EF>6V 44=V (1 D4=?: 5,57 

�54=F). � �<W6 : ��� V<. �7>DO %V>>DEL>>7>, 2018. � 243E. 
4. �E4T64 &.�., &>4G �.�. �><?'NF5D=4 7D4DV>4: ?>5G4>64 >D5E?5=L 6 AUTOCAD. �46G4?L=<= 

?>EV5=<> 4?O EFG45=FV6 6<M<E =46G4?L=<E 74>?44V6. � %5DE>=, %�&', 2010 � 212 E. 
5. �=EFDG>FVO ?> >>D<EFG64==N ?D>7D4<>N Danfoss C.O. - (�?5>FD>==4 65DEVO). 

�>?><V6=4 

1. �4D4=GG> /. %., �>D>7 �. �. �5G<E?N64==O F4 ?D>7D4<G64==O 6 Mathcad. �L6V6 : �<446=<FF6> 

�L6V6EL>>W ?>?VF5E=V><, 2013. - 364 E. 
2. �G=4D4F �.�.,  �G=4D4F �.�. �4G>>6>-F5E=VG=V >5G<E?5==O 74E>54<< MathCad F4 MS Excel. 

�46G. ?>EV5=<>. � $V6=5: �'���, 2014. � 252 E. 
3. �5DV6=<FF6> >>D<EFG64G4 AutoCAD 2010. % Autodesk, 2009 . % 2138 E. % (�?5>FD>==4 65DEVO). 
 

19. �=D>D<4FV==V D5EGDE< 

1. $>5>G4 ?D>7D4<4 =46G4?L=>W 4<EF<??V=< «�><?�NF5D=V <5F>4< F4 74E>5< D>76�O74==O 
V=65=5D=<E 7444G» 4?O EFG45=FV6 45==>W D>D<< =46G4==O E?5FV4?L=>EFV 144 &5??>5=5D75F<>4 / 
�.�. '5D54=V>>64. � �>?F464, 2022. � 10 E. (�?5>FD>==4 65DEVO 6 5?5>FD>==V= 5V5?V>F5FV 
�4FV>=4?L=>7> G=V65DE<F5FG «�>?F46EL>4 ?>?VF5E=V>4 V<5=V .DVO �>=4D4FN>4»). 

2. $5?>7<F4DV= G=V65DE<F5FG: http://reposit.pntu.edu.ua/. 

3. %F>DV=>4 4<EF4=FV==>7> >GDEG: https://dist.nupp.edu.ua/course/view.php?id=1119. 

http://reposit.pntu.edu.ua/
https://dist.nupp.edu.ua/course/view.php?id=1119

